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1) C7= SI (B7< $E$5, B7, $E$5)
	D7= $E$5 – C7
	E7= C7*$E$2 + D7*$E$4 - $E$3*$E$5

2) Sub P2triangulo()
x = Range("b2")
y = Range("b3")
Z = Range("b4")
a = Range("b7")
b = Range("b8")
c = Range("b9")
If a = 90 Or b = 90 Or c = 90 Then
    If a = b Or a = c Or b = c Then
        tipo = "rectángulo isósceles"
    Else
        tipo = "rectángulo escaleno"
    End If
ElseIf a > 90 Or b > 90 Or c > 90 Then
    If a = b Or a = c Or b = c Then
        tipo = "obtusángulo isósceles"
    Else
        tipo = "obtusángulo escaleno"
    End If
Else
    If x = y And y = Z Then
        tipo = "acutángulo equilátero"
    ElseIf x = y Or x = Z Or y = Z Then
        tipo = "acutángulo isósceles"
    Else
        tipo = "acutángulo escaleno"
    End If
End If
Range("b11") = tipo
End Sub

3) Sub P3lazos()
n = Range("e1")
S = 0
c = 0
For i = 1 To n
    x = Cells(i, 1)
    S = S + x
Next
p = S / n
For i = 1 To n
    x = Cells(i, 1)
    If x > p Then
	c = c + 1
    End If
Next
k = c
Range("e2") = k
End Sub
